MINUTES OF MEETING UNDER THE CHAIRMANSHIP OF CHAIRMAN PROCUREMENT COMMITTEE, FOR BID EVALUATION OF FIRMS / CONTRACTORS ON 04.11.2016 @ 02:00 P.M IN THE OFFICE OF EXECUTIVE ENGINEER, PHULLELI CANAL DIVISION, BADIN.

A meeting of Bid Evaluation Committee(Procurement Committee) was held on 04.11.2016 in the office of the Executive Engineer, Phulleli Canal Division, Badin for securitizing / evaluation of bid submitted by firms / contractors for execution of ADP No.1068 / 2016-17 work in Phulleli Canal Division of Left Bank Canals Area Water Board, Badin.

The following committee members participated in the meeting.

1. Director

Left Bank Canals (AWB) Badin Chairman

2. Executive Engineer

Phulleli Canal Division Badin Member

3. Assistant Executive Engineer

Education Works Division Tando Muhammad Khan Member

During the scrutiny of bid documents of all firms / contractors whose quoted their rates on the ADP work, according the Comparative Statment attached, the firm / contractor with lowest rates are recommended for sanction and execution of ADP No.1068 / 2016-17 work in Phulleli Canal Division of Left Bank Canals Area Water Board, Badin

(NISAR AHMED TUNIO) MEMBER EXECUTIVE ENGINEER

Phullei Canal Division Badin (ABDUL SATTAR) MEMBER

Assistant Executive Engineer

Education Works Division Tando Muhammad Khan

DIRECTOR Left Bank Canals (AWB) Badin

CHAIRMAN

HAMMAD DAHRD

(KHAIR M

Bid Opening / Evaluation Committee Meeting held on 04.11.2016 @ 2:00

P.M for ADP No. 1068/2016-17 Work "Repair/Replacement of Gate and
Gears of Gate -1 70 Morjhar X-Regulator Badin Sub Division" in Phulleli
Canal Division Badin, the following Procurement Committee Members
have attended the meeting.

S.No. Name and Designation Signature KHAIR MUHAMMAD DAHRI 1 **Executive Engineer** Phulleli Canal Division Badin CHAIRMAN 2 NISAR AHMED TUNIO **Executive Engineer** Phulleli Canal Division Badin **MEMBER** ABDUL SATTAR 3 Assistant Executive Engineer Education Works Division Tnado Muhammad Khan

MEMBER

ATTENDANCE SHEET

ADP No.1068 / 2016-17

NAME OF WORK:

Repair / Replacement of Gate and Gears of Gate-1 RD 70 Morjhar X-Regulator (Badin Sub Division).

S. No.	Name of Contractor	Contact No.	Signature
1.	Al-MUSSPCifora.		Monto Mil-
2.	Aty An		Ali (
3.	V		
4.			
5.			

(NISAR AHMED TUNIO)

MEMBER

EXECUTIVE ENGINEER

Phullei Canal Division

Badin

KHAIR MUHAMMAD DAHRI)
CHAIRMAN
DIRECTOR
Left Bank Canals (AWR)

Left Bank Canals (AWB) Badin (ABDUL SATTAR) MEMBER

Assistant Executive Engineer Education Works Division Tando Muhammad Khan

BID EVALUATION REPORT

Name of procuring Agency: Executive Engineer, Phulleli Canal Division, Badin

Tender Reference No.

NIT No.TC/G-55/441 dated 10.10.2016

Tender Description / Name

of Work / Item:

ADP No.1068/2016-17:- Repair / Replacement of Gate and Gears of Gate-1 RD-70

Morjhar X-Regulator (Badin Sub Division).

Method of Procurement:

Single Stage - One Envelope Procedure.

Tender Published:

SIDA website and SPPRA website

Total Bid Document sold:

02 Nos.

Total Bid Documents

02 Nos.

received:

Technical Bid opening Date: Not Applicable

(if applicable)

No. of Bid technically

Not Applicable

qualified: (if applicable)

Bid(s) Rejected:

Nil

Financial Bid opening Date: Date of opening 04.11.2016

Bid Evaluation Report:

S.No.	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of Cost	Comparison with Estimated Cost	Reasons for acceptance / rejection	Remarks
1	2	3	4	5	6	7
1.	Al-Mursalien Engineering & Cons: Company	Rs. 860550	1st	0.62% Below	Accepted due to lowest	Lowest bidder & recommended.
2	M/S Atif Ali	Rs. 873696	2nd	0.90% Above	Accepted but higher cost	

MEMBER

EXECUTIVE ENGINEER Phulleli Canal Division

Badin

(KHAIR MUHAMMAD DAHRI) CHAIRMAN

DIRECTOR

Left Bank Canals (AWB)

Badin

the lowest Bid approved in favour of M/s Al-Mursalien Engineering & Cons: Company to Rs. 860550/=

Left Bank Canal(A.W.B) Badin.

(ABDUL SATTAR)

MEMBER

Assistant Executive Engineer Education Works Division Tando Muhammad Khan

BID OPENING SHEET

Date of Opening: 04.11.2016 Bid Receiving Time: 1:00 P.M

Bid Opening Time: 02:00 P.M

NIT No.

TC/G-55/441 dated 10.10.2016

NAME OF WORK:

Repair / Replacement of Gate and Gears of Gate-1 RD-70 Morjhar X-Regulator (Badin Sub Division).

ADP No.

1068 / 2016-17

S.No.	Name of Contractor / Firm	Estimate Cost	Bid Cost	Remarks
1	Al-Mursalien Engineering & Cons: Company	0/5002	860550	1st Lowest
2	M/S Atif Ali	865882	873696	2nd Lowest

(NISAR AHMED TUNIO) MEMBER

EXECUTIVE ENGINEER

Phulleli Canal Division Badin (KHAIR MUHAMMAD DAHRI) CHAIRMAN

DIRECTOR

Left Bank Canals (AWB) Badin (ABDUL SATTAR) MEMBER

Assistant Executive Engineer

Education Works Division Tando Muhammad Khan

COMPARATIVE STATEMENT

ADP No.1068 / 2016-17

For the work of Repair / Replacement of Gate and Gears of Gate-1 RD-70 Morjhar X-Regulator (Badin Sub Division).

Reference:

NIT No.TC/G-55/441 dated 10.10.2016

S. No.	Item of Work	Amount	Contractor	Authority			
	Detail of Estimate			***			
1	Cost of Work	Rs. 865882	M/S Al-Mursalein Engeering & Const. Co	Estimate sanctioned by the Executive Eng Canal Division, Badin vide No.DB/D-10/4 dated: 13.10.2016 amounting for Rs: 865882/-			
	Total Estimate Cost	Rs. 865882	_				
	Detail of Bid						
	Schedule -B	Rs. 865882		M/S Al-Mursalein Engeering & Const. Co	0.62% Below		
	Below 0.62%	Rs. 5332		M/S Atif Ali Govt: Contractor	0.90% Above		
		THE RESERVE OF THE PARTY OF THE					

M/s Al-Mursalein Engineering & Construction Company have quoted their rates on 0.62% below Estimate Cost for the above subjected work and seems reasonable. Being the lowest Bid of M/s Al-Mursalein Engineering & Construction Company is being forwarded to the Director, Left Bank Canals Area Water Board, Badin for check and approval.

(NISAR AHMED TUNIO) MEMBER

Total Amount Rs. Rs. 860550

EXECUTIVE ENGINEER
Phulleli Canal Division

Badin

(KHAIR MUHAMMAD DAHRI) CHAIRMAN

> DIRECTOR Left Bank Canals (AWB) Badin

(ABDUL SATTAR) MEMBER

Assistant Executive Engineer Education Works Division Tando Muhammad Khan NIT No.

Method and Procedure of Procurement

TC/G-55/441

dated: 10.10.2016

Opened Competitive Bidding (National / International Competitive Bidding) (Single

Stage – One Envelope)

Description of Work

Repair / Replacement of Gate and Gears of Gate – 1 RD-70 Morjhar X-Regulator.

BIDDERS ELIGIBILITY QUALIFICATION REPORT

Eligibility Qualification Criteria:

S. No.	Eligibility / Qualification Criteria	M/S Atif Ali Govt. Contractor	M/S Al- Mursalein Eng: Const: Co	
1.	Registration with PEC (if applicable)	N/A	N/A	
2.	N.T.N No.	Yes	Yes	
3.	Sales Tax Registration	N/A	N/A	
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes	
5.	Minimum three years expenditure of relevant field.	N/A	N/A	
6.	Turnover of at least three years	N/A	N/A	
7.	Required Bid Security is attached	Yes	Yes	
8.	Bid is signed, named and stamped by the authorized person of the firm along with authorized letter.	Yes	Yes	
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44			
10.	Qualified / Disqualified.	Qualified	Qualified	

(NISAR AHMED TUNIO)

MEMBER

EXECUTIVE ENGINEER

Phullei Canal Division

Badin

KHAIR MUHAMMAD DAHRI) CHAIRMAN DIRECTOR Left Bank Canals (AWB) Badin (ABPUL SATTAR)
MEMBER
Assistant Executive Engineer
Education Works Division
Tando Muhammad Khan

AYEES NO	ISSUI	Cheque No.Ib 00158459 Stationery/Ref No:
SHIER'S	OF OTHER OF THOUSAND FIVE HUNDRED RUPEES ONLY	Date D M M Y Y Y Y PKR ***14,500.00
id for Six M	ANY UBL BRANCH IN PAKISTAN Months from the date of issue	Signatory PAZATorney No.
11ª () () 1	LEFT BANK CANALS AREA W.	
	PHULLELI CANAL DIVISION	@ BADIN
	BIDDING DOCUME	NT
	FOR	
-	MAINTENANCE AND R	EPA1R
3	Mame of work: "REPAIR / REPLACED GEARS OF GATE-1. RD 70 MORJHAR CR	OSS REGULATOR.

ADP No.1068

ISSUED TO M/S_

Al-Mursalein Engineering & Construction Company

No.	Quantities	(B) Description and rate of Items based of Description of Items to be executed at site	Rate	Unit	Amount in Rs.
1.	444.66	M.S Sheet 3/8" Thick	262	P.Kg	116500
2.	381.23	M.S Channel (6" x 3") Shutter Side Frames	262	P.Kg	99882
3.	211.68	M.S Channel (6" x 3") for Side Grooves	262	P.Kg	55460
4.	132.30	M.S Channel (6" x 3") for Top Girders	262	P.Kg	34663
5.	59.54	M.S Channel (6" x 3") for Bottom	262	P.Kg	15599
6.	26,46	M.S Channel (6" x 3") Pieces	262	P.Kg	6 9 3 3
7.	18	Screw Rod	3520	P.Rft	633601
8.	2	Crown Gear	7925	Each	15850
9.	2	Pinoin Gear	6692	Each	13384
10.	2	C.I Top Plate 10"x10"	8805	Each	17610
11.	4	Plumbing Block APS	6600	Each	26400
12.	10.00	Driving Shaft 1.5 " dia	1500	P.Rft	15000
13.	17	Nut Bolt off size	360	Kg	6120
14.	5	Washer off size	300	Kg	1500
15.	2	Brass Nut	11112	Each	22224
16.	2	Bottom Bracket	3000	Each	6000
17.	2	Gear key	418	Each	836
18.	13.6	Oxygen Gas	132	P.cyl	1795
19.	53.55	D Accetylene Gas	780	P.Cum	41769
20.	45	Electric Welding Rod 8 SWG China	600	Kg	27000
21.	32.76	Paint Red Oxide	837	P.Liter	27 420
22.	32.76	Paint Black	837	P.Liter	27420
23.	32.76	PainT Gray	1135	P.Liter	37183
24.	12	Tarpin Oil	275	P.Liter	3300
25.	12	Champion Greese	436	Kg	5232
		Tota	1 Opend	log ma	688440
		Workshop Crain / Transport charges 25%	6 m 4/11	16	172110
		Total	N Or)	NO.	860550

Total (B) in words & figures: 860550/-

(Rupers Eight handred sixty thousand five handled fifty only)

Contractor Al-Mursalein

Executive Engineer Precuping Agency

Phuleli Canal Division

Badin.

13

Summary of Bill of Quantities.

Cost of Bid

Amount

1. (A) Cost based on Composite Schedule of Rates.

Rs.

2. (B) Cost based on Non/Offered Schedule of Rates.

Rs. 860550/-

TOTAL COST OF BID (C) = Total (A) + Total (B)

Rs. 860550/=

Contractor
Al-IVIUTS alein
Engineering & Construction Company

Executive Engineer

Executive Engineer

Phuleli Canal Division

Badin.

A/C PAYEE ONLY

DATE

02/11/2016

AMIC CALL DEPOSIT RECEIPT

ICDR No.

2514001755 - Issue No. 172;

PKRS****14,500.00

AMOUNT

BENEFICIARY

ON ACCOUNT OF

EXECUTIVE ENGINEER PHULLELI CANAL DIVISION

BADIN.

ATIF ALI

BUIDEES

PKRS*** Fourteen Thousand Five Hundred Only

THE RECEIPT IS NON NEGOTIABLE

NON TRANSFERABLE

PAYABLE AT ANY

ICDR No.

2514001755

Authorised SignatuB-1181

for ALBARAKA BANK (PAKISTAN) LIMITED Manzoor Ahmea Mangi PA. # A-1091

Authorised Signature

2514001755 - Issue No. A

LEFT BANK CANALS AREA WATER BOARD, BADIN

PHULLELI CANAL DIVISION @ BADIN

BIDDING DOCUMENT

FOR

MAINTENANCE AND REPAIR

Name of work: "REPAIR / REPLACEMENT OF GATE AND GEARS OF GATE-1. RD 70 MORJHAR CROSS REGULATOR. (BADIN SUB DIVISION)".

ADP No.1068

ISSUED TO

M/S

tem No.	Quantities	(B) Description and rate of Items b Description of Items to be executed a		Rate	Unit	Amount in Rs.
1.	444.66	M.S Sheet 3/8" Thick	/	265	P.Kg	117835
2.	381.23	M.S Channel (6" x 3") Shutter Side Fra	ames /	265	P.Kg	101026
3.	211.68	M.S Channel (6" x 3") for Side Groove	es /	265	P.Kg	56095
4.	132.30	M.S Channel (6" x 3") for Top Girders		265	P.Kg	35060
5.	59.54	M.S Channel (6" x 3") for Bottom		265	P.Kg	15778
6.	26.46	M.S Channel (6" x 3") Pieces		265	P.Kg	7012
7.	18	Screw Rod		3800	P.Rft	68400
8.	2	Crown Gear		9,000	Each	18000
9.	2	Pinoin Gear		6700	Each	13400
10.	2	C.I Top Plate 10"x10"		9000	Each	18000
11.	4	Plumbing Block APS		6600	Each	26400
12.	10.00	Driving Shaft 1.5 " dia		1550	P.Rft	15500
13.	17	Nut Bolt off size		375	Kg	6375
14.	5	Washer off size		300	Kg	1500
15.	2	Brass Nut		11150	Each	22300
16.	2	Bottom Bracket		3000	Each	6000
17.	2	Gear key		425	Each	850
18.	13.6	Oxygen Gas		135	P.cyl	1836
19.	53.55	D Accetylene Gas		800	P.Cum	42840
20.	45	Electric Welding Rod 8 SWG China		600	Kg	27000
21.	32.76	Paint Red Oxide		845	P.Liter	27682
22.	32.76	Paint Black		845	P.Liter	27682
23.	32.76	PainT Gray		1140	P.Liter	37346
24.	12	Tarpin Oil		280	P.Liter	3360
25.	12	Champion Greese		440	Kg	5280
			Total	Open	1 hy me	648957
		Workshop Crain / Transport charge	ges 25%	10	Jul 11/16	873696
			Total		M	873696

Rs. 873696/=
Rupees, Eight Humbred Seventi Voice Housend Sir hundred Hinty Six only-

Executive Engineer Procuring Agency

v.pk Ph

Phuleli Canar vision

Badin.

Summary of Bill of Quantities.

Cost of Bid

Amount

- 1. (A) Cost based on Composite Schedule of Rates.
- 2. (B) Cost based on Non/Offered Schedule of Rates.

Rs. 873696/: Rs-873696/:

TOTAL COST OF BID (C) = Total (A) + Total (B)

Govt: Contracto

Badin.



No. Mng (Assest)/SPPRA/30138/16-17.9745 SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY GOVERNMENT OF SINDH

Karachi, dated the 7th December, 2016

The Executive Engineer, Puleli Canal Division, BADIN.

SUBJECT: NIT: NO TC/ 2.G-55/441/2016/Dated. 10.10.2016 (Sr. # 30138).

The undersigned is directed to refer to the subject Bid Evaluation Report and to convey the observation/infirmities as under:

- i. This seems the same work for which PA has initiated bid vide No.TC/G-55/446/Dated13.10.2016. It appears that either scheme has spilted in parts or initiated twice, clarification is required.
- In view of above, the procuring agency is advised to furnish above mentioned documents/clarification and take appropriate action for rectifying the infirmities. It may be noted that the compliance of SPP Rules 2010 (amended 2013) is the sole responsibility of procuring agency in letter and spirit.

(MUHAMMAD ANWAR MALIK) ASSISTANT DIRECTOR (ASSESSMENT)

Copy forwarded for information to:-

✓ The Secretary to Govt. of Sindh, Irrigation Department, Karachi.

✓ The Staff Officer to Managing Director, SPPRA, Karachi.

✓ Master file.